R&R
ﬁoﬁcﬁ Ramp Kit - High Rail
-~  R04246

Complete Turf Equipment Ltd.
4331 Oil Heritage Road Petrolia, NON 1RO
519-882-2008

https://completeturf.rrproducts.com/

Specifications
Manufacturer

Replacement Parts
R400258

R99-6204

R106-5353
R445795
R3234-5

R3296-29
R322-12

R3296-44
R101526

R3296-39
R3231-21

R95-6448
R106-5317
R106-5354
R108-3156
R105-5393
R106-5316-01
R106-5315
R106-5314-01
R106-5313-01
R453011

R&R Products

Bolt - Hex HD 3/8-16 x
3/4

Clip - Retaining - Wheel
(Rubber)

Rubber Wheel Assy
Nut - 5/16-18 Flanged
Bolt - 5/16-18x3/4 Hx
Ser Was HD

Locknut - 5/16-18 ESNA
Bolt-5/16-18 x 2 1/2
Hx HD

Nut - 3/8-16 Heavy Jam
ESNA Lock

Bolt - Hex HD 3/8-16 x
2-1/2 GR5

Locknut - 3/8-16 Nylon
Screw - 3/8-16 x 3/4
Carriage

Spacer

Hose - Fuel

Latch - Wheel Lock
Bracket - Wheel Lock
Rod - Trailer - Small
Bracket - Ramp
Bracket-Lock

RH Tube Assy

LH Tube Assy

Washer - Flat 3/8 SAE
Y/Zinc



